MULTIPLYING BY O

There are 3 vases in Sakshi’s house.
How many flowers are in the vases?
There are 0 flowers.
0+0+0=_92 flowers

3 groups of 0 flowers each
3x0=0)

~#When you multiply any number by 0, the answer 1s always _‘Q,_
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Now Sakshi has put 1 flower in each vase.
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When a number is multiplied by 1, the answer is the number itself.
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~ Multiply. Do in book
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A multiplication question can be written in two ways. T o honk
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-HOTS questions ———————
Aman has 10 coins of ¥ 2 each and Alisha has 4 coins of
? S each Can they togebher buy a ball that costs X 40?
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EXERCISE 4.5 @o‘ 'n hoplk_and gnﬁg
A. Use the multiplication tables to fill in the blanks. Go\ou.;:\‘;o{j“
7x2=_14 3x5=_15 6x10 = 60 ==
4x0=_0 5x1=_5 9x5 =%
6x2=_12 4x5=_20 | 10x10=_0C
ox1=_9 0x7=_0 7x5 =_35
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C. Colour the flower green if the answer is correct. Colour the flower
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